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QUESTION 1

Consider the following Python code:

print(type('Peter')) # <class 'str'>
print(type(23)) ## <class "ink'>
print(type(True)) # <class "bool'>

What are the types of the variables name, age and ag?
A. oat, bool, str

B. str, int, bool

C. int, bool, char

D. str, int, int

Correct Answer: B

QUESTION 2

The pyc le contains ...

A. a Python interpreter.

B. Python source code.

C. compiled Python bytecode.
D. a Python compiler.

Correct Answer: C

QUESTION 3

Which of the following statements are correct? (Choose two.)
A. 7 + False evaluates to False

B. True or False evaluates to True

C. True + 1 evaluates to 2

D. True and False evaluates to True

E. type(\\\V') returns
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Correct Answer: BC

QUESTION 4

What is the expected output of the following code?

x=(1, 4, 7, 9, 18, 11)
ol e O R T TR T O U !

¥
res = 1
for z in x:

print('z in for:', z)
# z in for:

# 7 in for: 4

# z in for:

# z in for: 9

# z in for: 18
# 7 in for: 11

if Eian s
print('z in if:", z)
# z in if: 4
# z in if: 10

res += z
print(res) # 15
A. 22
B. 6
C.15
D. 14

Correct Answer: C

QUESTION 5
An operator able to check whether two values are not equal is coded as:

A
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C.=/=

D. not ==

Correct Answer: B
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